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ELEMENTI	
  DI	
  SEMANTICA	
  
OPERAZIONALE	
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Contenu'	
  

!   sintassi	
  astra-a	
  e	
  domini	
  sinta0ci	
  
o  un	
  frammento	
  di	
  linguaggio	
  impera'vo	
  

!   seman'ca	
  operazionale	
  	
  
o  domini	
  seman'ci:	
  valori	
  e	
  stato	
  

o  relazioni	
  di	
  transizione	
  e	
  funzioni	
  di	
  valutazione	
  seman'ca	
  

!   seman'ca	
  e	
  paradigmi	
  
!   seman'ca	
  e	
  supporto	
  a	
  tempo	
  di	
  esecuzione	
  

!   verso	
  definizioni	
  seman'che	
  “eseguibili”	
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Sintassi	
  e	
  seman'ca	
  
!   un	
  linguaggio	
  di	
  programmazione	
  possiede	
  

o  una	
  sintassi	
  	
  
 le	
  formule	
  ben	
  formate	
  del	
  linguaggio	
  (o	
  programmi	
  sinta0camente	
  
corre0)	
  

o  una	
  seman8ca	
  
 che	
  assegna	
  un	
  significato	
  alle	
  formule	
  ben	
  formate	
  	
  
  un’interpretazione	
  ai	
  simboli	
  in	
  termini	
  di	
  en'tà	
  (matema'che)	
  note	
  

!   la	
  teoria	
  dei	
  linguaggi	
  formali	
  fornisce	
  i	
  formalismi	
  di	
  specifica	
  (e	
  le	
  tecniche	
  
di	
  analisi)	
  per	
  tra-are	
  gli	
  aspe0	
  sinta0ci	
  

!   per	
  la	
  seman'ca	
  esistono	
  diverse	
  teorie	
  
o  Seman&ca	
  denotazionale,	
  Seman&ca	
  operazionale,	
  Seman&ca	
  

assioma&ca	
  
!   la	
  seman'ca	
  formale	
  viene	
  di	
  solito	
  definita	
  su	
  una	
  rappresentazione	
  dei	
  

programmi	
  in	
  sintassi	
  astra3a	
  
o  invece	
  che	
  sulla	
  reale	
  rappresentazione	
  sinta0ca	
  concreta	
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Seman'ca	
  dei	
  PL	
  

!   Tre	
  metodi	
  di	
  analisi	
  seman'ca:	
  
o  Seman'ca	
  operazionale:	
  descrive	
  il	
  significato	
  di	
  un	
  programma	
  

in	
  temine	
  dell’evoluzione	
  del	
  programma	
  mediante	
  una	
  nozione	
  
di	
  macchina	
  astra-a;	
  

o  Seman'ca	
  denotazionale:	
  il	
  significato	
  di	
  un	
  programma	
  e’	
  
definito	
  in	
  termini	
  di	
  funzioni	
  e	
  spazi	
  funzionali;	
  

o  Sema'ca	
  operazionale	
  descrive	
  il	
  significato	
  di	
  un	
  programma	
  in	
  
termine	
  delle	
  proprieta’	
  che	
  sono	
  soddisfa-e	
  prima	
  e	
  dopo	
  
l’esecuzione	
  del	
  programma	
  	
  

!   Ciascuno	
  di	
  ques'	
  metodi	
  ha	
  diversi	
  vantaggi	
  e	
  svantaggi	
  
in	
  termini	
  degli	
  aspe0	
  matema'ci,	
  della	
  facilita’	
  di	
  uso	
  
nelle	
  dimostrazioni,	
  o	
  quanto	
  è	
  facile	
  implementare	
  un	
  
interprete	
  o	
  compilatore.	
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Il	
  nostro	
  corso	
  

!   Definizione	
  della	
  stru-ure	
  a	
  run-­‐'me	
  	
  
o  Seman'ca	
  operazionale	
  

!   Object	
  orienta'on	
  
o  Seman'ca	
  assioma'ca	
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Seman'ca	
  Operazionale	
  

!   Macchina	
  astra-a=	
  Sistema	
  di	
  transizione	
  
o  Un	
  insieme	
  Config	
  configurazioni	
  (sta'),	
  
o  Relazione	
  binaria	
  −→⊆Config×Config.	
  	
  

!   Notazione:	
  c	
  −→	
  c’	
  significa	
  che	
  c	
  e	
  c’	
  sono	
  nella	
  
relazione	
  	
  −→	
  	
  

6 



4	



Sintassi	
  astra-a	
  
!   in	
  sintassi	
  concreta,	
  i	
  costru=	
  del	
  linguaggio	
  sono	
  

rappresenta8	
  come	
  stringhe	
  
o  è	
  necessaria	
  l’analisi	
  sinta=ca	
  per	
  meEere	
  in	
  evidenza	
  la	
  struEura	
  

importante	
  dal	
  punto	
  di	
  vista	
  seman8co,	
  risolvendo	
  problemi	
  lega8	
  
solo	
  alla	
  comodità	
  di	
  notazione	
  

 proprietà	
  degli	
  operatori	
  concre8	
  (associa8vità,	
  distribu8vità,	
  precedenze)	
  

!   in	
  sintassi	
  astraEa,	
  ogni	
  costruEo	
  è	
  un’espressione	
  (o	
  albero)	
  
descriEo	
  in	
  termini	
  di	
  	
  
o  applicazione	
  di	
  un	
  operatore	
  astraEo	
  (dotato	
  di	
  un	
  8po	
  e	
  di	
  una	
  arietà	
  

n)	
  ad	
  n	
  operandi,	
  che	
  sono	
  a	
  loro	
  volta	
  espressioni	
  (del	
  8po	
  richiesto)	
  
o  la	
  rappresentazione	
  di	
  un	
  programma	
  in	
  sintassi	
  astraEa	
  è	
  “isomorfa”	
  

all’albero	
  sinta=co	
  costruito	
  dall’analisi	
  sinta=ca	
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1-8 

Ambiguita’	
  

<expr> → <expr> <op> <expr>  |  const 
<op> → /  |  - 

<expr> 

<expr> <expr> 

<expr> <expr> 

<expr> 

<expr> <expr> 

<expr> <expr> 

<op> 

<op> 

<op> 

<op> 

const const const const const const - - / / 

<op> 



5	



1-9 

Gramma'che	
  non	
  ambigue	
  

!   Precedenza	
  tra	
  gli	
  operatori	
  nella	
  sintassi	
  
<expr> → <expr> - <term>  |  <term> 
<term> → <term> / const| const 

<expr> 

<expr> <term> 

<term> <term> 

const const 

const / 

- 

1-10 

Associa'vita’	
  operatori	
  

<expr> -> <expr> + <expr> |  const  (ambiguous) 
<expr> -> <expr> + const  |  const  (unambiguous) 

<expr> <expr> 

<expr> 

<expr> const 

const 

const 

+ 

+ 
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Domini	
  sinta0ci	
  

!   la	
  sintassi	
  astra-a	
  è	
  definita	
  specificando	
  i	
  domini	
  
sinta4ci	
  
o  nomi	
  di	
  dominio,	
  con	
  metavariabili	
  rela've	
  
o  definizioni	
  sinta0che	
  

!   assumiamo	
  l’esistenza	
  del	
  dominio	
  sinta0co	
  IDE	
  (e	
  
poi	
  anche	
  seman'co)	
  degli	
  iden&ficatori,	
  con	
  
metavariabili	
  I,	
  I1,	
  I2,	
  ...	
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Un	
  esempio	
  (linguaggio	
  impera'vo)	
  

!   domini	
  
o  EXPR	
  (espressioni),	
  con	
  metavariabili	
  E,	
  E1,	
  E2,	
  ...	
  	
  
o  COM	
  (comandi),	
  con	
  metavariabili	
  C,	
  C1,	
  C2,	
  ...	
  
o  DEC	
  (dichiarazioni),	
  con	
  metavariabili	
  D,	
  D1,	
  D2,	
  ...	
  
o  PROG	
  (programma),	
  con	
  metavariabile	
  P	
  

!   definizioni	
  sinta0che	
  
o  E	
  ::=	
  	
  I	
  |	
  val(I)	
  |	
  lambda(I,	
  E1)	
  |	
  plus(E1,	
  E2)	
  |	
  apply(E1,	
  E2)	
  
o  C	
  ::=	
  i`henelse(E,	
  C1,	
  C2)	
  |	
  while(E,	
  C1)	
  |	
  assign(I,	
  E)	
  |	
  cseq(C1,	
  C2)	
  	
  
o  D	
  ::=	
  var(I,	
  E)	
  |	
  dseq(D1,	
  D2)	
  	
  
o  P	
  ::=	
  prog(D,	
  C)	
  

!   non	
  è	
  un	
  frammento	
  completo,	
  poiché	
  mancano	
  
o  costan'	
  (per	
  esempio,	
  interi	
  e	
  booleani)	
  
o  altre	
  necessarie	
  operazioni	
  (per	
  esempio,	
  su	
  interi	
  e	
  booleani)	
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Domini	
  seman'ci	
  
!   i	
  domini	
  seman'ci	
  vengono	
  defini'	
  da	
  equazioni	
  di	
  dominio	
  

	
   	
  nome-­‐dominio	
  =	
  espressione-­‐di-­‐dominio	
  
o  enumerazione	
  di	
  valori	
  

bool	
  =	
  {	
  True,	
  False	
  }	
  	
  	
  	
  int	
  =	
  {	
  0,	
  1,	
  2,.....	
  }	
  	
  
o  somma	
  di	
  domini	
  

val	
  =	
  [	
  int	
  +	
  bool	
  ]	
  	
  	
  (un	
  elemento	
  appar'ene	
  a	
  int	
  oppure	
  a	
  bool)	
  
o  iterazione	
  finita	
  di	
  un	
  dominio	
  

listval	
  =	
  val*	
  	
  	
  	
  	
  	
  	
  	
  	
  (un	
  elemento	
  è	
  una	
  lista	
  di	
  elemen'	
  di	
  val)	
  
o  funzioni	
  tra	
  domini	
  

env	
  =	
  IDE	
  →	
  	
  val	
  	
  (un	
  elemento	
  è	
  una	
  funzione	
  che	
  mappa	
  un	
  
elemento	
  di	
  IDE	
  in	
  uno	
  di	
  val)	
  	
  	
  	
  	
  	
  	
  	
  

o  prodo3o	
  cartesiano	
  di	
  domini	
  
stato	
  =	
  env	
  *	
  store	
  	
  (un	
  elemento	
  è	
  una	
  coppia	
  formata	
  da	
  un	
  
elemento	
  di	
  env	
  ed	
  uno	
  di	
  store)	
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Seman'ca	
  Operazionale	
  

•  lo	
  s'le	
  di	
  definizione	
  tradizionale	
  è	
  quello	
  dei	
  sistemi	
  di	
  transizione	
  
•  insieme	
  di	
  regole	
  che	
  definiscono	
  	
  

•  a-raverso	
  un	
  insieme	
  di	
  relazioni	
  di	
  transizione	
  	
  
	
  come	
  lo	
  stato	
  cambia	
  per	
  effe-o	
  dell’esecuzione	
  dei	
  vari	
  costru0	
  

•  una	
  'pica	
  regola	
  descrive	
  la	
  seman'ca	
  di	
  un	
  costru-o	
  sinta0co	
  c	
  
eseguito	
  nello	
  stato	
  σ,	
  specificando	
  il	
  nuovo	
  stato	
  σ’	
  e/o	
  il	
  valore	
  
calcolato	
  v	
  	
  

•  dobbiamo	
  prima	
  di	
  tu-o	
  specificare	
  i	
  domini	
  seman'ci	
  con	
  cui	
  
rappresen'amo	
  lo	
  stato	
  ed	
  i	
  valori	
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Domini	
  seman'ci:	
  lo	
  stato	
  

!   lo	
  stato	
  comprende	
  un	
  dominio	
  chiamato	
  ambiente	
  
(environment)	
  	
  
o  per	
  modellare	
  l’associazione	
  tra	
  gli	
  iden'ficatori	
  ed	
  i	
  
valori	
  che	
  ques'	
  possono	
  denotare	
  

!   env	
  =	
  IDE	
  →	
  	
  dval,	
  con	
  metavariabili	
  ρ,	
  ρ1,	
  ρ2,	
  ...	
  
o  La	
  notazione	
  	
  

[	
  ρ	
  /	
  I	
  ←	
  d	
  ] 	
  	
  

indica	
  l’ambiente	
  	
  

ρ’	
  =	
  λξ.	
  if	
  x	
  =	
  I	
  then	
  d	
  else	
  ρ	
  x	
  
15 

Lo	
  stato	
  
!   il	
  nostro	
  linguaggio	
  è	
  impera'vo	
  ed	
  ha	
  la	
  nozione	
  di	
  en'tà	
  

modificabile,	
  cioè	
  le	
  variabili	
  (create	
  con	
  le	
  dichiarazioni	
  e	
  
modificate	
  con	
  l’assegnamento)	
  
o  non	
  è	
  possibile	
  modellare	
  lo	
  stato	
  con	
  un’unica	
  funzione,	
  
perché	
  è	
  possibile	
  che	
  iden'ficatori	
  diversi	
  deno'no	
  la	
  
stessa	
  locazione	
  (aliasing)	
  

!   è	
  quindi	
  necessario	
  un	
  secondo	
  componente	
  dello	
  stato,	
  
chiamato	
  memoria	
  (store)	
  
o  per	
  modellare	
  l’associazione	
  fra	
  locazioni	
  e	
  valori	
  che	
  
possono	
  essere	
  memorizza'	
  

!   store	
  =	
  loc	
  →	
  	
  mval,	
  con	
  metavariabili	
  σ,	
  σ1,	
  σ2,	
  ...	
  
o  [	
  σ	
  /	
  l	
  ←	
  m	
  ]	
  indica	
  la	
  memoria	
  	
  

σ’	
  =	
  λξ.	
  if	
  x	
  =	
  l	
  then	
  m	
  else	
  σ	
  x	
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Lo	
  stato	
  

!   env	
  =	
  IDE	
  →	
  	
  dval,	
  con	
  metavariabili	
  ρ,	
  ρ1,	
  ρ2,	
  ...	
  	
  

!   store	
  =	
  loc	
  →	
  	
  mval,	
  con	
  metavariabili	
  σ,	
  σ1,	
  σ2,	
  ...	
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Domini	
  seman'ci:	
  i	
  valori	
  
o  dval	
  (valori	
  denotabili),	
  dominio	
  dei	
  valori	
  che	
  possono	
  essere	
  
denota'	
  da	
  un	
  iden'ficatore	
  nell’ambiente	
  

o  mval	
  (valori	
  memorizzabili),	
  dominio	
  dei	
  valori	
  che	
  possono	
  
essere	
  contenu'	
  in	
  una	
  locazione	
  nella	
  memoria	
  	
  

o  eval	
  (valori	
  esprimibili),	
  dominio	
  dei	
  valori	
  che	
  possono	
  essere	
  
o-enu'	
  come	
  seman'ca	
  di	
  una	
  espressione	
  

!   per	
  capire	
  come	
  definire	
  i	
  tre	
  domini	
  dobbiamo	
  analizzare	
  il	
  
linguaggio	
  

!   assumiamo	
  predefini'	
  i	
  domini	
  int	
  e	
  bool	
  	
  
o  con	
  le	
  rela've	
  “operazioni	
  primi've”	
  

	
  ed	
  il	
  dominio	
  loc	
  con	
  una	
  “funzione”	
  
o  newloc	
  :	
  	
  → loc	
  	
  (che,	
  ogni	
  volta	
  che	
  viene	
  applicata,	
  res'tuisce	
  
una	
  nuova	
  locazione)	
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Il	
  dominio	
  seman'co	
  fun	
  
	
  E	
  ::=	
  	
  I	
  |	
  val(I)	
  |	
  lambda(I,	
  E1)	
  |	
  plus(E1,	
  E2)	
  |	
  apply(E1,	
  E2)	
  

!   le	
  espressioni	
  contengono	
  l’astrazione	
  
o  lambda(I,	
  E1)	
  rappresenta	
  una	
  funzione	
  	
  

 il	
  cui	
  corpo	
  è	
  l’espressione	
  E1	
  
 con	
  parametro	
  formale	
  I	
  

!   in	
  una	
  seman'ca	
  operazionale	
  (ed	
  in	
  una	
  implementazione)	
  
quando	
  si	
  incontra	
  una	
  astrazione	
  si	
  può	
  solo	
  raccogliere	
  
l’informazione	
  (sinta0ca	
  ed	
  eventualmente	
  seman'ca)	
  che	
  verrà	
  
poi	
  usata	
  nella	
  applicazione	
  

!   fun	
  =	
  expr	
  
o  la	
  seman'ca	
  di	
  una	
  espressione	
  di	
  'po	
  lambda	
  sarà	
  
l’espressione	
  stessa	
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eval,	
  dval,	
  mval	
  
E	
  ::=	
  	
  I	
  |	
  val(I)	
  |	
  lambda(I,	
  E1)	
  |	
  plus(E1,	
  E2)	
  |	
  apply(E1,	
  E2)	
  
D	
  ::=	
  var(I,	
  E)	
  |	
  dseq(D1,	
  D2)	
  	
  

!   eval	
  
o  deve	
  contenere	
  int,	
  bool	
  e	
  fun	
  
o  decidiamo	
  che	
  non	
  con'ene	
  loc	
  (decisione	
  seman'ca,	
  la	
  sintassi	
  lo	
  

perme-erebbe)	
  
!   dval	
  

o  deve	
  contenere	
  loc	
  	
  
o  decidiamo	
  che	
  contenga	
  anche	
  int,	
  bool	
  e	
  fun	
  	
  

!   mval	
  
o  deve	
  contenere	
  int	
  e	
  bool	
  	
  
o  decidiamo	
  che	
  non	
  con'ene	
  loc	
  e	
  fun	
  (decisione	
  seman'ca,	
  la	
  sintassi	
  

lo	
  perme-erebbe)	
  

eval	
  =	
  [	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
dval	
  =	
  [	
  loc	
  +	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
mval	
  =	
  [	
  int	
  +	
  bool	
  ]	
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La	
  seman'ca	
  operazionale	
  

•  lo	
  s'le	
  di	
  definizione	
  tradizionale	
  è	
  quello	
  dei	
  sistemi	
  di	
  transizione	
  
•  insieme	
  di	
  regole	
  che	
  definiscono	
  a-raverso	
  un	
  insieme	
  di	
  
relazioni	
  di	
  transizione	
  come	
  lo	
  stato	
  cambia	
  per	
  effe-o	
  
dell’esecuzione	
  dei	
  vari	
  costru0	
  	
  

•  un	
  esempio	
  di	
  regola	
  nel	
  caso	
  dei	
  comandi	
  
•  configurazioni:	
  	
  triple	
  	
  	
  	
  	
  <	
  COM,	
  env,	
  store	
  >	
  
•  relazione	
  di	
  transizione:	
  configurazione	
  →com	
  store	
  

•  un	
  esempio	
  di	
  regola	
  di	
  transizione:	
  	
  
<	
  C1,	
  ρ, σ >	
  →comσ2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  <	
  C2,	
  ρ, σ2 >	
  →comσ1	
  

-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  <	
  cseq(C1,	
  C2),	
  ρ, σ >	
  →comσ1 	
  

21 
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Equazioni	
  e	
  Regole	
  

•  funzione	
  di	
  valutazione	
  seman'ca	
  

• C(cseq(C1,	
  C2),	
  ρ, σ)	
  =	
  C(C2,	
  ρ,  C(C1,	
  ρ, σ))	
  

•  relazione	
  di	
  transizione	
  

<	
  C1,	
  ρ, σ >	
  →comσ2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  <	
  C2,	
  ρ, σ2 >	
  →comσ1	
  

-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  <	
  cseq(C1,	
  C2),	
  ρ, σ >	
  →comσ1	
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Large	
  Step	
  Seman'cs	
  

!   Quella	
  che	
  abbiamo	
  visto	
  e’	
  nota	
  in	
  le-eratura	
  
come	
  “large	
  step	
  seman'cs”	
  	
  

!   Res'tuisce	
  dire-amente	
  il	
  risultato	
  finale	
  della	
  
valutazione	
  

!   Nel	
  nostro	
  caso	
  del	
  linguaggio	
  impera'vo	
  il	
  
risultato	
  finale	
  della	
  valutazione	
  e’	
  la	
  memoria.	
  

23 

Small	
  steps	
  seman'cs	
  

!   Tecnica	
  differente	
  per	
  descrivere	
  la	
  seman'ca	
  
operazionale	
  

!   Descrive	
  tu0	
  gli	
  sta'	
  intermedi	
  della	
  valutazione	
  	
  

24 
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Small	
  Steps:	
  	
  
Composizione	
  sequenziale	
  

!   <c1,	
  env,	
  store>	
  	
  <c’,	
  env,	
  store’>	
  
-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
<c1	
  ;	
  c2,	
  env,	
  store>	
  	
  <c’;	
  c2,	
  env,	
  store’>	
  

!   <skip	
  ;	
  c2,	
  env,	
  store>	
  	
  <c2,	
  env,	
  store>	
  

25 

Small	
  steps	
  vs	
  Large	
  Step	
  

!   La	
  differenza	
  principale	
  emrge	
  quando	
  si	
  vuone	
  
tra-are	
  situazioni	
  in	
  cui	
  abbiamo	
  	
  
o  Non	
  determinismo	
  
o  Comunicazione	
  

!   In	
  linguaggi	
  semplici	
  le	
  sue	
  seman'che	
  
coincidono.	
  

26 
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27 

Le	
  funzioni	
  di	
  valutazione	
  seman'ca	
  
E	
  ::=	
  	
  I	
  |	
  val(I)	
  |	
  lambda(I,	
  E1)	
  |	
  plus(E1,	
  E2)	
  |	
  apply(E1,	
  E2)	
  
C	
  ::=	
  iahenelse(E,	
  C1,	
  C2)	
  |	
  while(E,	
  C1)	
  |	
  assign(I,	
  E)	
  |	
  cseq(C1,	
  C2)	
  	
  
D	
  ::=	
  var(I,	
  E)	
  |	
  dseq(D1,	
  D2)	
  	
  
P	
  ::=	
  prog(D,	
  C)	
  

!   per	
  ogni	
  dominio	
  sinta0co	
  esiste	
  una	
  funzione	
  di	
  valutazione	
  
seman'ca	
  

!   E	
  :	
  EXPR	
  *	
  env	
  *	
  store	
  →	
  eval	
  
!   C	
  :	
  COM	
  *	
  env	
  *	
  store	
  →	
  store	
  
!   D	
  :	
  DEC	
  *	
  env	
  *	
  store	
  →	
  (env	
  *	
  store)	
  
!   P	
  :	
  PROG	
  *	
  env	
  *	
  store	
  →	
  store	
  

!   le	
  funzioni	
  di	
  valutazione	
  seman'ca	
  assegnano	
  un	
  significato	
  ai	
  
vari	
  costru0,	
  con	
  una	
  definizione	
  data	
  sui	
  casi	
  della	
  sintassi	
  
astra-a	
  

28 

Seman'ca	
  delle	
  espressioni	
  
E	
  ::=	
  	
  I	
  |	
  val(I)	
  |	
  lambda(I,	
  E1)	
  |	
  plus(E1,	
  E2)	
  |	
  apply(E1,	
  E2)	
  
	
  env	
  =	
  IDE	
  →	
  	
  dval	
  
	
  store	
  =	
  loc	
  →	
  	
  mval	
  
	
  fun	
  =	
  EXPR	
  
	
  eval	
  =	
  [	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  dval	
  =	
  [	
  loc	
  +	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  mval	
  =	
  [	
  int	
  +	
  bool	
  ]	
  
	

E	
  :	
  EXPR	
  *	
  env	
  *	
  store	
  →	
  eval	
  

E(I, ρ, σ) =  dvaltoeval(ρ(I)) 
E(val(I), ρ, σ) = mvaltoeval(σ(ρ(I))) 
E(plus(E1, E2), ρ, σ)=  E(E1 , ρ, σ) + E(E2, ρ, σ) 

E(lambda(I, E1) ), ρ, σ) =   lambda(I, E1) 

E(apply(E1, E2), ρ, σ)= applyfun(E(E1 , ρ, σ) , evaltodval (E(E2, ρ, σ) ), ρ, σ) 
applyfun ( lambda(I, E), d, ρ, σ ) = E(E) [ ρ / I ← d ]  σ 
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29 

Seman'ca	
  dei	
  comandi	
  
	
  C	
  ::=	
  iahenelse(E,	
  C1,	
  C2)	
  |	
  while(E,	
  C1)	
  |	
  assign(I,	
  E)	
  |	
  cseq(C1,	
  C2)	
  	
  
	
  env	
  =	
  IDE	
  →	
  	
  dval	
  
	
  store	
  =	
  loc	
  →	
  	
  mval	
  
	
  fun	
  =	
  EXPR	
  
	
  eval	
  =	
  [	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  dval	
  =	
  [	
  loc	
  +	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  mval	
  =	
  [	
  int	
  +	
  bool	
  ]	
  
	

C	
  :	
  COM	
  *	
  env	
  *	
  store	
  →	
  store	
  

C(assign(I, E), ρ, σ) = [ σ / ρ(I) ← evaltomval(E(E, ρ,  σ)) ]  
C(cseq(C1, C2), ρ, σ) =  C(C2, ρ, C(C1, ρ,  σ))  
C(ifthenelse(E, C1, C2), ρ, σ ) =   

  if  E(E, ρ,  σ) then C(C1, ρ,  σ) else C(C2, ρ,  σ) 
C(while(E, C1), ρ, σ) =   

  if  E(E, ρ, σ) then C(cseq(C1, while(E, C1)), ρ, σ ) else σ  

30 

Seman'ca	
  delle	
  dichiarazioni	
  
	
  D	
  ::=	
  var(I,	
  E)	
  |	
  dseq(D1,	
  D2)	
  	
  
	
  env	
  =	
  IDE	
  →	
  	
  dval	
  
	
  store	
  =	
  loc	
  →	
  	
  mval	
  
	
  fun	
  =	
  EXPR	
  
	
  eval	
  =	
  [	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  dval	
  =	
  [	
  loc	
  +	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  mval	
  =	
  [	
  int	
  +	
  bool	
  ]	
  
	

D	
  :	
  DEC	
  *	
  env	
  *	
  store	
  →	
  (env	
  *	
  store)	
  

 D(var(I, E), ρ, σ) = let loc = newloc() in 
   ( [ ρ / I ← loc ], [ σ / loc ← evaltomval( E(E, ρ, σ ))] ) 

 D(dseq(D1, D2), ρ, σ)  = let (ρ’, σ’) = D(D1, ρ, σ)  in  D(D2, ρ’, σ’ ) 
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31 

Seman'ca	
  dei	
  programmi	
  
	
  	
  P	
  ::=	
  prog(D,	
  C)	
  	
  
	
  env	
  =	
  IDE	
  →	
  	
  dval	
  
	
  store	
  =	
  loc	
  →	
  	
  mval	
  
	
  fun	
  =	
  EXPR	
  	
  
	
  eval	
  =	
  [	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  dval	
  =	
  [	
  loc	
  +	
  int	
  +	
  bool	
  +	
  fun	
  ]	
  
	
  mval	
  =	
  [	
  int	
  +	
  bool	
  ]	
  
	

 P	
  :	
  PROG	
  *	
  env	
  *	
  store	
  →	
  store	
  

• P(prog(D, C), ρ, σ) = let (ρ’, σ’) = D(D, ρ , σ) in C(C, ρ’,  σ’) 

Seman'ca	
  e	
  paradigmi	
  di	
  
programmazione	
  

•  linguaggi	
  funzionali	
  	
  
•  un	
  solo	
  dominio	
  sinta0co:	
  EXPR	
  
•  un	
  solo	
  dominio	
  seman'co	
  per	
  lo	
  stato:	
  env	
  	
  
•  dval	
  =	
  eval	
  

•  i	
  valori	
  esprimibili	
  contengono	
  sempre	
  fun	
  	
  
•  una	
  sola	
  funzione	
  di	
  valutazione	
  seman'ca	
  
!   	

 	

E	
  :	
  EXPR	
  *	
  env	
  →	
  eval	
  

32 
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33 

Seman'ca	
  e	
  paradigmi	
  	
  

•  linguaggi	
  impera'vi	
  	
  
•  tre	
  domini	
  sinta0ci:	
  EXPR,	
  COM	
  e	
  DEC	
  
•  due	
  domini	
  seman'ci	
  per	
  lo	
  stato:	
  env	
  e	
  store	
  
•  dval,	
  eval	
  ed	
  mval	
  sono	
  generalmente	
  diversi	
  

•  i	
  valori	
  su	
  cui	
  si	
  interpretano	
  le	
  astrazioni	
  funzionali	
  
(fun	
  )	
  sono	
  di	
  solito	
  solo	
  denotabili	
  

•  le	
  locazioni	
  sono	
  sempre	
  denotabili	
  
•  tre	
  funzioni	
  di	
  valutazione	
  seman'ca	
  
	

 	

E	
  :	
  EXPR	
  *	
  env	
  *	
  store	
  →	
  eval	
  
	

 	

C	
  :	
  COM	
  *	
  env	
  *	
  store	
  →	
  store	
  
	

 	

D	
  :	
  DEC	
  *	
  env	
  *	
  store	
  →	
  (env	
  *	
  store)	
  	
  

34 

Seman'ca	
  e	
  paradigmi	
  	
  

•  linguaggi	
  orienta'	
  ad	
  ogge0	
  	
  
•  oltre	
  ad:	
  EXPR,	
  COM	
  e	
  DEC,	
  dichiarazioni	
  di	
  classe	
  
•  tre	
  domini	
  seman'ci	
  per	
  lo	
  stato:	
  oltre	
  a	
  env	
  e	
  store,	
  un	
  

dominio	
  nuovo	
  (heap),	
  per	
  modellare	
  i	
  puntatori	
  e	
  gli	
  
ogge0	
  

•  dval,	
  eval	
  ed	
  mval	
  sono	
  generalmente	
  diversi	
  
o  i	
  valori	
  su	
  cui	
  si	
  interpretano	
  le	
  astrazioni	
  funzionali	
  

(fun	
  )	
  sono	
  di	
  solito	
  solo	
  denotabili	
  
o  le	
  locazioni	
  sono	
  sempre	
  denotabili	
  
o  gli	
  ogge0	
  di	
  solito	
  appartengono	
  a	
  tu0	
  e	
  tre	
  i	
  domini	
  

•  le	
  funzioni	
  di	
  valutazione	
  seman'ca,	
  prendono	
  (e	
  
res'tuiscono)	
  anche	
  la	
  heap	
  

•  	

 C	
  :	
  COM	
  *	
  env	
  *	
  store	
  *	
  heap	
  →	
  (store	
  *	
  heap) 	
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Seman'ca	
  e	
  supporto	
  a	
  run	
  'me	
  

•  le	
  differenze	
  fra	
  i	
  linguaggi	
  dei	
  diversi	
  paradigmi	
  si	
  
rifle-ono	
  in	
  differenze	
  nelle	
  corrisponden'	
  
implementazioni	
  	
  

•  tu-e	
  le	
  cara-eris'che	
  importan'	
  per	
  proge-are	
  

un	
  interprete	
  o	
  un	
  supporto	
  a	
  tempo	
  di	
  

esecuzione,	
  si	
  possono	
  ricavare	
  ispezionando	
  i	
  soli	
  

domini	
  seman'ci	
  della	
  seman'ca	
  operazionale	
  

35 

Seman'che	
  “eseguibili”	
  

•  quali	
  cara-eris'che	
  sono	
  importan'?	
  
•  la	
  λ-­‐astrazione	
  	
  

 con	
  funzioni	
  di	
  ordine	
  superiore	
  
•  i	
  'pi:	
  il	
  meccanismo	
  naturale	
  per	
  definire	
  domini	
  sinta0ci	
  e	
  seman'ci	
  	
  

 via	
  enumerazione,	
  somma,	
  prodo-o,	
  iterazione,	
  funzioni	
  
•  la	
  definizione	
  di	
  funzioni	
  per	
  casi	
  	
  

 sui	
  casi	
  di	
  un	
  'po	
  (la	
  sintassi	
  astra-a)	
  

•  il	
  metalinguaggio	
  è	
  un	
  frammento	
  di	
  un	
  vero	
  e	
  proprio	
  linguaggio	
  di	
  
programmazione	
  (funzionale,	
  di	
  ordine	
  superiore,	
  'pato,	
  con	
  pa-ern	
  
matching)	
  
•  riesprimendo	
  le	
  nostre	
  seman'che	
  in	
  tale	
  linguaggio,	
  o-eniamo	
  

seman'che	
  eseguibili	
  

36 


